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1. QERENER
luame
0 B35+ OIX2|X[He| XMa|7HASto| M2 ST EFE SHfo= MEEE JHM
= ZHN 2 BHY HEE S5t Xzl Sih
= =5t QEES XMUg S5t IS4 SAEH U I
o NUAES TSt S3seAEINAE BH
= JHUAE D A, FSskAEIAES] SHEEES SHHEORM JHUAIES| ST AFRE TKs
o FTA 2 MUMAS Sot SScAMEINAL MY sl F A KRR XM2lgE 3ist
= M4 ZAIALE 8% £T-0[EH s R 2M 2 BTt =&
= EMI7ZHof theiMTt EAES SE6HH 2AHIE EXIE st AF
o ZI2A| RDIMZ L X2|AE $ZoZ 0|xz2| BY-PASS 2 HI2oaH52F X2t
= 284 XG0z S+otn PLEAM EX|0f thet foiHE L LAl RDIFY Z[ASIE fI6t
STEN HRAIE SE
= LA O|X2| 512 ZASIEL7| Y5 RDIXEIAIE 2
112 O-ENY BSSH0l IE Azt
1.2.1 Ol=Nelels X Ol-EHEE
o ZHAE J|F(20354) StREIQIFE 117,691210|H S EZE2 85.1%2 12
= SIxl steX2(217H67,20121) thH| 2035 7|&E 75.1% B7t
<H# 10.1-1> O}FX22I7 ¥ OfFEESE () : o)
7+ B 202044 20254 20304 20354 H|1
Azlelz 112,555 115,530 116,965 138,243
g A 15,588 16,074 15,959 19,730
2 ¢ 21,089 21,730 21,891 26,891
iy A 24,875 27,298 27,554 35,754
= N2 2,631 2,688 2,931 5,053
XMzl | st
- # = 7,950 9,090 9,042 11,526
Q7 | x2
A = 1,225 1,270 1,281 3574
HAZA| 12,230 12,230 12,230 12,230
AR 3,137 3,086 3,009 2,933
A A 88,725 93,466 93,897 117,691
Sl HZE(%) 78.8% 80.9% 80.3% 85.1%
SHT St 8H| 7|2 A E(HE) ( 10-1
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122 OIS HAFY WA

o SleXE|TE B2 =8

A= (2035H)0f| 20,23k

= X2l SEoZ Xl X2|7H(13.20k) CHH| 53.3%57t

<H 10.1-2> Of+X{EFY HX

TR ki)
T 2 202044 20254 203044 20354 HI
g A 17.12 18.62 10.37 20.23
= o 2.47 2.63 2.78 2.78
= & 373 450 450 4.91
o ES 3.57 4.10 4.10 4.22
- 4 = 1.63 1.64 2.09 2.09
°T N = 0.84 0.87 1.02 1.10
SME A 3.45 3.45 3.45 3.45
’y & 0.22 0.22 0.22 0.47
ES A 15.91 17.41 18.16 19.02
AR 1.21 1.21 1.21 1.21
123 Ol EaAHE

o SkeEtE HEE2 2035H7|E & 500,945m

= XMe|posl 2 J(EAI D AAE sieEE BEAE

41.0% 37t

Zo=2 SIXf| StEt=(355,346m)CHH|

<#H 10.1-3> Oi+&HE T57=

T 2 20204 20254 203044 20354 H|Z
g Al 484,345 500,945 500,945 500,945
2| 447,029 463,629 463,629 463,629
A | ERA > 274,556 290,984 290,984 290,984
(s 179,462 179,634 179,634 179,634
X/ 4:7IM 37,316 37,316 37,316 37,316
g A 355,346 355,346 355,346 355,346
;| 318,030 318,030 318,030 318,030
IIE | 2N 2% 145,852 145,852 145,852 145,852
= 179,167 179,167 179,167 179,167
X/ R47IM 37,316 37,316 37,316 37,316
g Al 128,999 145,599 145,599 145,599
A 128,999 145,599 145,599 145,599
44 | ERA | 2 128,704 145,132 145,132 145,132
= 295 467 467 467
XE/24-7HM - - - -
10-2 ) 2882
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Al 222 2035 7|&F 34,220m° /Y

BTSN XITES| AE U BEFE N SO B 7E 43
2 AZE 27HA, TIS91 KI BHA, AN 17HAOH CHEH KR 4
A BBoRZIAE(21,740m7/2) thH| 57.4%57t
<H 10.1-4> FFOIFHANE 5 of - m/2)
= 7|&d 20204 20254 2030 20354 H|1
= 22,090 28,870 28,870 28,870 34,220
21,800 28,050 28,050 28,050 33,400
7,000 7,000 7,000 7,000 7,000
8,000 10,000 10,000 10,000 11,500
6,000 9,500 9,500 9,500 12,000
53
M= 450 1,000 1,000 1,000 1,600
i . . . . . N
243 Sletwa)
el 350 550 550 550 1,300
_ AiEiza
290 820 820 820 820

4 sl |7 [2AIE(HE)
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2.1.1 OKHE (=4
o 5teXE|e7t 2E4H0 FYULI S| 0|Xl= Fe2 o=
o BIFAT 0I5 B
C1' Ql + C2 ) QQ
o EFARITAl - C
= C,, WEX|HMEs42(BOD, mg/L), C,:aH44E(BOD, mg/L), C,:5ix2|4wa4E! (BOD, ng/L)
= Q3K 2 /Y), Qo :5teRElSE EEfai(n/Y)

2.1.2 OIH=E 0=
o 2AEl0ME SME FURLHR SHN, OlH, M9 £ HMEIE SN, 2, U4 M35
SkeREIAIM SMIL A5t HES!
= S, 2 U4, MIZSSEeXEIAA SHAR AREAl 9F OJA-A| S8, 0|8F, ST RU==
QLAELSIZ IS £E JHMSIIE HE
7t WELHo| QHESIEF A Sigt
o olM9| £ZAI2 SHMEH| 7|2AZIKE &8 = ST, 0|3, STl Sxf i QHLs2E A
0 ZEoIEREIANAL XEIA| £E2 MAYFESE XME
= HRLH0| FQ XZIAMO SH, 2, U4, M2 ZZo|eX2AAe S QAR APY
o 2MAM9| HxH4EI2 BOD7|E 2.4mg/LO|H SRS 109.3kg/LE ZALE
o Mol dM+EE BOD7|E 4.9mg/LO0|H RULSIE2 97.1kg/L=E EAHE
o O|SMe| HHXHLZEIS BODZ|IE 5.2mg/LO|H RULSIZS 348.3kg/UZE EALE
<H 10.2-1> B2 YFE+49 CF0IF &Y Ky
a2 e e 2=Z(mg/L) 23512 kg/) ol
= LY
(m*/Y) BOD T-P BOD —P
S8 38,880 20 0.020 778 0.8
SMBISHE A 7.000 45 0.250 315 18
Htesd 45,880 2.4 0.055 109.3 25
Z) 51 QTS TSMH SIHMH| 7|=2AEL A TR LSS J|F02 ARY
-4 ) DY



<H 10.2-2> FO/X &F+

o9

9| LZFOIF Y HY

o3
oat =E(mg/L) 23512 kg/)
7 e (ot /";) [in}
= BOD T-P BOD T-P
o|X 11,491 5.0 0.200 57.5 2.300
=1 6,000 50 0.300 30.0 1.800
OO A
=o° A=A 2,000 3.0 0.180 6.0 0.360
M= 450 8.1 2.000 3.7 0.900
ey 19,941 49 0.269 97.1 5.400
) 5t8 QTS TSH IHMH| 7|2AHE Alo] TR LSS J|FOZ ALY
<H 10.2-3> O0/TX YF+49 Q=015 2y D1y
oat E(mg/L) 23512 kg/)
7+ 2 :r?u H|
(/) BOD T-P BOD T-P
oS 61,334 50 0.200 306.7 12.300
i} CHA
agrmzs) H 4,000 8.0 2.000 32.0 8.000
A % A
THEMNE pa=m | 2000 48 0.200 9.6 0.400
Htesod 67,344 5.2 0.307 3483 20.7
Z) 5lx QTS '0|5H SHHNH| 7|25 AlS| TR UMUS J|ZOZ ARY
213 Y59 EIM
7t WRsH EUM S0t
o Ht2A00| £ 9l QAHFIRS ZtAT| J|IFOE ZHEA|, 2, A, AMI ZIIeX2AAM w2
£Ho| £EUIM ZQ oF JWOoZ MEHE|LL RTZAL ZUE O] & 42 2 WM 517t 245t A
oz mthE,
= SAM AT |REZHEEE 20354, BODZ|E 1bSE(2.0mg/LO|5H)
— X2|AIM D|7ESA| BOD 8.8mg/L, 5t4=X{2|& 7F=A| BOD 1.8mg/LE 7|& 0|5
= 8% 2EIIE(EHEE 20354, BOD7IE IbSE(2.0mg/L0I5h)
— x2|& 0|7}sA| BOD 28.2mg/LOIL}, Sl=X2|Z 7FSA| BOD 1.7mg/L2 7|& 0|51
o 0|3 $27|2=EHEE 20354, BODZ|ZE IIS52(5.0mg/LO|5}H)
— X2|& 0|7FSA| BOD 22.0mg/LO|L}, SH&2|& 7ESA| BOD 2.6mg/L2 7= 0|5t
SHT S| 7|2 2)(HA) 10-5
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-+ 2 20204 20254 20304 20354 =] e
A 149,354 149,513 149,476 150,715
ogf
e S4H 143,719 143,719 143719 143,719
(m*/<)
M7 5t 5,635 5,794 5,757 6,996
BOD 244.3 244.3 244.3 2443
CoD 7282 7282 7282 728.2
St SS 618.0 618.0 618.0 618.0
T-N 362.3 362.3 362.3 362.3
T-P 56 5.6 56 5.6
BOD 1,077.4 1,107.1 1,100.1 1,330.5
24 CoD 880.3 905.0 899.1 1,090.3
B2k e
; SS 1,163.0 1,196.0 1,188.0 1,438.0
(kg/Y) | ™
T-N 224.8 231.4 229.8 281.3
T-P 37.4 385 38.3 46.6
BOD 269.68 270.40 270.23 275.80
CoD 729.28 729.28 729.28 729.28
=LA
_°}_'; SS 621.27 621.27 621.27 621.27
bo[=lk=
T-N 365.05 365.05 365.05 365.05
T-P 7.24 7.24 7.24 7.24
BOD 7.2 7.4 7.4 8.8
CoD 5.9 6.1 6.0 7.2
8k SS 78 8.0 79 95
*alF ) ) ) .
T-N 1.505 1.548 1.537 1.866
Azl T-P 0.250 0.258 0.256 0.309
(mg/Q ) BOD 18 18 18 18
CoD 49 4.9 49 48
<]
_ 4.2 42 4.2 4.1
Hag | O
T-N 2.444 2.442 2.442 2.422
T-P 0.048 0.048 0.048 0.048
10-6 ) >S9



<H 10.2-5> FO/X 5+ +& o=
T = 2020 202544 20304 203544 H|z
A 70,522.0 70,7480 70.805.0 72.570.0
ogf
e Aol 61.334.0 61.334.0 61.334.0 61.334.0
(m*/)
2otxa|RY l4 0188 9.414 9.471 11.236
BOD 9027 9.7 27 9.7
coD 291.9 291.9 291.9 291.9
S SS 274.3 274.3 274.3 274.3
T-N 159.3 159.3 159.3 159.3
T-P 16 16 16 16
BOD 16916 17308 17406 2.046.1
24 CoD 1,365.8 1,398.3 1,406.5 1.660.0
ot | sk ) 1.864.9 1.907.9 1.917.9 22499
(kg/Y) X2|™ N o S -
T-N 351.9 360.7 362.9 431.4
T-P 54.4 55.8 56.2 67.2
BOD 120,30 120.98 12115 126.45
coD 365.38 367.19 367.65 381.77
=LA
_°}: SS 301.84 302,51 302.69 307.98
X2|=
T-N 251.19 053.45 254,02 271.67
T-P 3.27 3.31 333 3.64
BOD 24.0 245 24.6 28.2
coD 19.4 198 19.9 22.9
8k SS 26.4 27.0 27 1 310
g . . . .
T-N 4.990 5.098 5125 5.945
Ax) T-p 0.771 0.789 0.793 0.925
(mg/ ) BOD 17 17 17 17
CoD 5.2 52 52 53
=LA
S Ss 43 43 43 4.2
x2|=
T-N 3562 3582 3588 3.744
T—-P 0.046 0.047 0.047 0.050
SMF Sk XH| 7|2 A12)(HA) 10-7
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<H 10.2-6> 0/ 5+ L& o=
T = 202044 202514 20304 203544 Clinl
A 93.714.0 94,498.0 94.591.0 97,2480
[=X=13
(n::/jl) OjSH 85.392.0 85.392.0 85.392.0 85.392.0
=
CHA X225k 8,322 9,106 9,199 11,856
BOD 197.2 197.2 197.2 197.2
coD 316.6 316.6 316.6 316.6
St SS 5452 545.2 5452 5452
T-N 243.4 243.4 243.4 243.4
T-p 29.7 29.7 29.7 297
BOD 1.489.9 1634.2 1.650.4 21387
- - coD 12337 1.353.1 1.366.6 17707
Bsjat i:E_I; SS 1617.7 17746 1792.6 23207
ka/d =
(ka/&) T-N 3358 368.4 372.0 482.2
T-p 54.1 50.4 50.9 77.7
BOD 23716 240,92 241.37 254,12
coD 466.42 48053 482.20 530.03
34
T SS 586.85 500.77 591.23 604.52
2=
T-N 393.19 407.30 408.97 456.80
T-P 31.33 31.48 3150 32.03
BOD 15.9 17.3 17.4 22.0
coD 132 143 14.4 18.2
8k SS 173 188 19.0 239
e . . . .
T-N 3583 3.898 3.933 4.959
Ax T-P 0577 0.629 0.633 0.799
(mg/Q ) BOD 25 25 26 26
CoD 50 5.1 5.1 55
=LA
Sk Ss 6.3 6.3 6.3 6.2
X2|E
T-N 4.196 4310 4.324 4.697
T-P 0.334 0.333 0.333 0.329
s ) BBYT



